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Response Rho

Whole Model
Summary of Fit
RSquare 0.683524
RSquare Adj 0.564845
Root Mean Square Error 0.042993
Mean of Response 4.379583
Observations (or Sum Wgts) 12
Analysis of Variance
Source DF Sum of Squares Mean Square
Model 3 0.03193758 0.010646
Error 8 0.01478733 0.001848
C. Total 11 0.04672492
Parameter Estimates
Term Estimate Std Efror t Ratio Prob>{t|
Intercept 4,3795833 0.012411 352.88 <.0001
Wafer{1] -0.067583 0.021497 -3.14 0.0137
Wafer{2] -0.032583 0.021497 -1.52 0.1681
Wafer{3] 0.0500833 0.021497 233 0.0482
Effect Tests
Source Nparm DF Sum of Squares F Ratio
Wafer 3 3 0.03193758 5.7594
Residual by Predicted Plot
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425 430 435 440 445 450 455
Rho Predicted
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425 T T T T T
4.3004.325 4350 4.375 4.400 4.4254.450
Wafer Leverage, P=0.0213
Least Squares Means Table
Level Least Sq Mean Std Error Mean
1 4.3120000 0.02482215 4.31200
2 4.3470000 0.02482215 4.34700
3 4.4296667 0.02482215 4.42967
4 4.4296667 0.02482215 4.42967

F Ratio
5.7594
Prob >F
0.0213

Prob > F
0.0213
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M - { -
Sz 4 % UE-ERvVRD R M
Drain, Problem 4 Yije T M ';:' e ’ L[. - j= "
Lot Wafer Rho W_ave Lot_ave S$_D S_W S_L S_M
1 1 4.289 43325 4.3183 0.0010 0.0002 0.000004 0.0019
1 1 4376 0.0031 0.0019
1 2 4.320 4.3040 0.0000 0.0002 0.0003
1 2 4.288 0.0010 0.0003
2 1 4.149 4,2265 42650 0.0293 0.0015 0.00305 0.0060
2 1 4.304 0.0003 0.0060
2 2 4.384 4.3035 0.0041 0.0015 0.0065
2 2 4.223 0.0095 0.0065
3 1 4,396 44135 43775 0.0057 0.0013  0.00328 0.0003
3 1 4.431 0.0123 0.0003
3 2 4404 4.3415 0.0070 0.0013 0.0039
3 2 4279 — _- 0.0017 0.0039
R Y g \U/ 1 \.5 = (K(j(c-;;J‘.\L
MEAN 432025 432025 (i 3) (Rp.-%n)) o oo
VAR 0.00681 0.00373 0.00317 J Cx Lo -x\
STD 0.08255 0.06104 0.05628
SS_D 0.0750 = T columm .
= 3 SSW 00119 = W* Z colown \
= 2 SS.L 00253 = WM Z cplown,
= 2 S M 0.0377 = <~
ANOVA 2 colum
Variation d.o.f. d.o.f. SS MS F_value Pr > F Error Term Used (Denominator)
LOT L1 2 0.0253 0.01267 3.18691432 0.18105 _ WAFER
WAFER L(W-1) 3 0.0119 0.00398 0.63273157 _ 0.62044 SITE
SITE LW(M-1) 6 0.0377 0.00628
CTOTAL LWM-1 1 0.0750 0.00681
VARIANCE COMPONENTS
Variation # data #data Observed Estimated
Source MS in SS in SS Variance Variance % Var
SITE 0.00628 1 1 0.00628 0.00628 79.74 By observed variance, we mean
WAFER  0.00398 M 2 0.00199 0.00000 0.00 the SS *without* the multiplication
LOT 0.01267 MW 4 0.00317 0.00160 20.26 by the number of points in the SS.
TOTAL 0.00681 1 0.00681 ( 0.00788 0.00
Interval Estimates alpha: 0.05
LOWER POINT UPPER d.o.f.
SITE (site to site) 0.00261 0.00628 0.03046 6
WAFER (wafer to wafer) 0.00000 0.00000 0.00000 3

LOT (lot to lot) 0.00043 0.00160 0.06306 2
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